YpoK mMaTemMaThKu rno tTeme

«J[leneHne c octaTKOM»
3 knacc (KPO)

Yuutenb: KyabMmnHa MapuHa [leTpoBHa

MQOY COLL Ne 9 r. BopoBunum



Jlejenue ¢
OCTaTKOM












5 (oct. 9)
8 (oct. 2)
6 (oct. 1)

8 (oct. 3)



21:5=  (oct. 1)

20:5




OcTaTok JlenuTenp




44 : 12 = (ocr. 8)
12 ¢ 2 =24

44 - 24 = 20 =
1203 = 36
44 -36=8 S




OcTaTok JlenuTenp




OcTaTok JlenuTenp




50:9 30:9

86 : 21 38 - 4

72 : 14 67 : 32



5 (ocT. 5) 4 (oct. 2)

4 (ocr. 4) 5 (ocT. 2)

9 (oct. 2) 2 (ocT. 3)



2008




OcTaTok JlenuTenp




Jlenureib

YMHOXXHUTh HA

HACTHOC

TITYNNO) ARV



















Harpaxxmgan=ka



